Enkopings BS
Hostsilver 2012-11-19

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac Par Poang % Namn MID Klubb
1 3 208 61.90 Peter Svensson - Annika Steisjo 802 2849  Enkoépings BS
2 1 202 60.12  Tony Holm - Kerstin Hallgren 6639 6059  Enkopings BS
3 9 198 58.93  Karin Wiman - Britt Cedergren 17251 4088  Enkdpings BS - Kép En Sol
4 6 176 52.38  Hakan Lindh - Sonja Moller 6055 87675 Enkopings BS
5 8 173 51.49 Mira Yttermark - Sture Wiman 36069 80223 Enkdpings BS
5 16 173 51.49 Johan Ostman - Leif Sahlberg 21811 24653 Enkdpings BS
7 12 172 51.19  Anita Ahlstrém - Brittmarie Frolén 16261 50144 Enkodpings BS
8 2 168 50.00 Ola Sodergran - Torsten Runebert 9994 9996  Enkopings BS
9 7 166 49.40  Fredrik Smitt - Marguerithe Lundberg 93591 50146 BK S:t Erik - Enkdpings BS
9 11 166 49.40 Thomas Ekblom - Robin Holmqvist 32214 35012 Enkdpings BS
9 13 166 49.40 Lillemor Zander - Anette Maretics 21772 24689 Enkopings BS
12 14 158 47.02  Dennis Marklund - Tage Nyholm 17376 29319 Enkopings BS - Norrkopingsbridgen
13 10 148 44.05 Eva Karlstrom - Georgios Tzintzis 80214 80219 Enkdpings BS
14 5 143 42.56  Karin Laurin - Bjorn Moller 23607 87673 Enkopings BS
15 15 140 41.67 Karin Fredman - Maud Lindblom 92840 90004 Enkoépings BS
16 4 131 38.99 Barbro Sandberg - Magnus Hurulund 51979 50190 Enkdpings BS
1 & KKn7 2 465 3 «D10
Nord vED9 Ost vES8 Syd v KD864
Ingen ¢ EK43 NS + DKn86 ov + EK9
D76 #98764 #1073
442 4 D109863 4 D93 & EK742 &« E83 4 Kn764
v76543 v82 v732 v KDKn96 vE9732 ¢105
¢ 10762 ¢ D8 ¢ K72 +5 ¢ 654 ¢+ Kn732
#KKn 4984 &#EKn52 4103 #DKn 4842
4 E5 4 Kn108 4 K952
v KKn10 v 1054 vKn
¢ Kn95 + E10943 + D108
#E10532 #KD #EK965
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 11 6NN= aT 990 140 00| 9 4 24 O+2 &K -170 140 00| 9 12 3NN+2 «T 460 140 0.0
3 5 3NN+3 46 490 90 50| 3 5 340+2 +A -200 120 20| 1 16 3NN+1 3 430 100 4.0
9 4 3NN+3 46 490 90 50|10 2 440-= *Q -420 70 7.0| 7 15 3NS+1 v2 430 100 4.0
10 2 3NN+3 T 490 90 50|14 7 440-= &K -420 70 7.0|13 2 3NN+1 T 430 10.0 4.0
13 1 3NN+3 T 490 90 50|15 6 4vO= +K -420 70 70|11 3 3NN= vT 400 50 9.0
14 7 3NN+2 46 460 3.0 11.0(16 12 44 O= *K -420 70 7.0|14 8 3NN= ¢ A 400 50 9.0
16 12 3NN+2 49 460 3.0 11.0 8 11 3NV+1l 49 -430 20 120|10 5 INN+4 T 210 2.0 120
15 6 6NN-5 v8 -250 0.0 14013 1 44 O+1 A -450 0.0 140 4 6 3#S+2 6 150 0.0 14.0
4 4 DKn76 5 46 6 « D97
Vast v K63 Nord v EKn6 Ost vD10642
Alla + ED8652 NS ¢ DKn10952 ov +108
»- #ED7 K104
4 E9 485 +« EKD 4932 4 E42 a-
vKn9872 D vD5 v K8732 v K85 v 97
¢+ K4 +Kn73 ¢ EK8643 ¢ - ¢ DKn96 ¢ K75432
#KD83  #Knl097642 #Kn10 #86432 #EKn2 #D9873
4 K10432 4« Kn108754 « KKn108653
vE1054 v 1094 v EKn3
+ 109 *7 +E
&E5 *K95 #65
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 12 54D 0O -3 42 800 140 00|11 6 4v V-4 +Q 200 140 00|12 4 44 S= +6 420 13.0 10
1 16 44 S+2 8 680 100 40| 9 14 3NV-3 +Q 150 120 20(16 2 44 S= a4 420 13.0 1.0
13 2 44 S+2 &K 680 100 40|10 1 24 S= +K 110 100 40(10 1 34S+2 +Q 200 9.0 5.0
14 8 44 S+2 &K 680 100 40| 8 15 2NDV-1 +¢Q 100 80 6011 6 54DO-1 %6 200 9.0 5.0
4 6 44 S+l v] 650 50 9.0(13 3 2¢ N-1 &3 -100 50 9.0| 5 7 5¢0-1 &K 100 50 9.0
10 5 54 N= *K 650 50 9.0|16 2 2¢ N-1 &6 -100 50 9.0| 8 15 5¢ O-1 ¥vA 100 50 9.0
11 3 44 S= v7 620 20 120|12 4 3NN-2 v2 -200 20 120| 9 14 3v N-1 2 -50 20 12.0
7 15 54D O-2 ¢A 500 0.0 140 5 7 3¢DN-2 #2 -500 0.0 140(13 3 3&V+l a7 -130 0.0 14.0
7 4« D932 8 4 86 9 4 KKn74
Syd v K543 Vast v EKn2 Nord v DKn6432
Alla +D Ingen ¢ Kn764 ov + K10
*EK96 #DKn84 D
4 Kn7 4 K10 4D105 &EK42 410862 4D5
v 876 v ED109 vD1096 v843 vK8 vE9
41076 ¢ EK542 ¢ K52 +8 ¢ 765 + DKn9832
#DKn543 4108 #632 #EK1097 #EKn109 #3862
« E8654 4« Kn973 « E93
vKn2 vK75 v 1075
¢ Kn983 ¢+ ED1093 ¢E4
*72 &5 &#K7543
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 5 3vyDO-4 «A 1100 140 00| 6 8 2NN+1 #A 150 140 00| 1 8 4vyN= +Q 420 100 4.0
12 7 3v0-3 4A 300 120 20| 3 16 3v V-2 +4 100 11.0 30| 7 9 4vyN= 8 420 100 4.0
6 8 24 S+l T 140 9.0 50|12 7 3vV-2 ¢4 100 11.0 30|12 3 4y N= +Q 420 10.0 4.0
10 14 34 S= *Q 140 90 50|15 9 2¢S= *6 90 80 6.0(14 11 4v N= +Q 420 100 4.0
3 16 24 S= *T 110 6.0 80|13 4 INV-1 +4 50 6.0 80|16 4 4v N= +Q 420 100 4.0
11 2 INO-1 v] 100 20 12011 2 3¢ S-2 v6 -100 40 100(13 5 3y N+2 3 200 4.0 10.0
13 4 26 O-1 v 100 20 120| 1 5 240= ¢ A -110 20 120| 2 6 3y N+1 ¢Q 170 20 12.0
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15 9 INO-1 vJ 100 20 12010 14 INV+l &4 -120 0.0 140(15 10 4v N-1 ¢+ Q -50 0.0 14.0
10 « EKn94 11 « Kn4 12 +« EK86
Ost v85 Syd v75 Vast v 854
Alla + Kn1075 Ingen ¢ 10742 NS + 87
#Kn105 #DKn1054 #KKn109
4 K863 42 497653 4 ED2 4D1073 &4
vK1092 vED763 vEKn3 v1062 vKn7632 vKD109
+ K6 + E83 + K + E98653 ¢+ E64 4 KKn3
#EDS8 #9764 #E876 #K &7 #E8632
« D1075 # K108 « Kn952
v Kn4 v KD984 vE
¢ D942 ¢ DKn + D10952
K32 #932 D54
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 8 4vV+l v8 -650 70 70| 3 7 64V-2 v6 100 140 00| 1 4 2vV= &K -110 12.0 2.0
2 6 4v0+1 v -650 70 70| 1 4 4eV-1 v7 50 11.0 30| 8 10 2v V= +8 -110 12.0 2.0
7 9 4y V+1 e -650 70 7.0|11 15 4a V-1 v7 50 11.0 30|11 15 2v V= s A -110 12.0 2.0
12 3 4v V+1 v5 -650 70 7.0(13 6 2¢ O+1 &9 -110 80 60| 3 7 3vO= +8 -140 6.0 8.0
13 5 4v O+1 45 -650 70 70| 8 10 24 V+1 w7 -140 60 80(13 6 2vV+1l &K -140 6.0 8.0
14 11 4v V+1 & -650 70 70| 2 9 24 V+2 w7 -170 40 100(14 12 2v V+1 &K -140 6.0 8.0
15 10 4v V+1 ¢ -650 70 70| 5 16 34 V+2 w7 -200 20 120 2 9 4v V= aA -420 1.0 13.0
16 4 4v V+1 v5 -650 70 70|14 12 4e V= *Q -420 0.0 140( 5 16 4v V= s A -420 1.0 13.0
13 « D84 14 « D543 15 «D8
Nord v- Ost v D10754 Syd v K86
Alla 49653 Ingen +5 NS ¢ 97653
#EKD763 D87 &D42
« EK103 4 Kn752 4E982 41076 4« EKn1065 497432
vDKn9752 v EK10863 v 62 v K9 v- v DKn1052
+ K4 .- ¢ K1087 ¢ EDKn643 ¢ EKD82 ¢+ Kn
&Kn #1054 #962 #53 #1098 *76
96  KKn &K
v4 v EKn83 vE9743
¢+ EDKNn10872 +92 ¢ 104
#9082 #EKKn104 #EKKN53
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
3 10 6vyDV-1 &A 200 13.0 10| 1 14 4vy N+2 &5 480 140 00| 7 16 54 O-1 &A 50 140 0.0
12 15 6vDO-1 +¢A 200 13.0 10| 2 5 4y N+1 +A 450 90 50| 2 14 34 V= 46 -140 12.0 2.0
1 14 49y V+1 48 -650 50 9.0| 3 10 4y N+1 A 450 90 50|13 8 34 V+2 v6 -200 10.0 4.0
2 5 5v0= ¢ A -650 50 9.0[ 9 11 4y N+1 +A 450 90 50| 3 6 4aV= v6 -420 70 7.0
4 8 5v 0= *9 -650 50 9.0(13 7 4vy N+1 ¢A 450 90 50| 5 9 440= A -420 70 7.0
9 11 5v V= A -650 50 9.0(12 15 4y N= &5 420 40 100( 4 11 4e V+2 vK -480 2.0 120
13 7 4v O+1 &9 -650 50 90(16 6 54DO0O-2 &K 300 20 12.0|10 12 44 V+2 ¥6 -480 2.0 120
16 6 4v O+1 &9 -650 50 90| 4 8 5#S-2 aA -100 0.0 140(15 1 44 V+2 ¢K -480 20 120
16 « EKn109 17 « E943 18 104
Vast v 10962 Nord v KKn108 Ost vE
oV +D3 Ingen + 10 NS ¢ E9862
#953 #Kn1097 #ED1097
#6432 475 4 DKn872 4 K105 4 E973 & K85
vEDKn5 vK74 v D65 vE973 v K65 v DKn9832
462 + KKn75 +9 + K7632 *7 + D54
#KKn6  #E1072 #K543 *6 #KKn543 #6
« KD8 46 4« DKn62
v 83 v42 v 1074
¢ E10984 + EDKn854 ¢ KKn103
D84 &#ED82 82
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 11 3v V-1 ¢+ Q 100 130 10|11 1 2¢ S+1 &7 110 13.0 10(16 8 4¢ S= vK 130 140 0.0
15 1 2NV-1 v2 100 130 10|13 9 3&S-= a2 110 13.0 10| 4 7 4v0-2 48 100 120 2.0
3 6 24 N-1 v4 -50 90 50| 4 7 3saV-1 *T 50 90 50| 512 3v0O= »8 -140 8.0 6.0
13 8 INS-1 vJ] -50 90 50| 5 12 INO-1 ¢+ Q 50 90 5011 1 3vO= »8 -140 8.0 6.0
10 12 1v V= &5 -80 6.0 80|14 3 3NN-1 a5 -50 40 10015 2 3vO= 8 -140 8.0 6.0
2 14 INO= 4 K -90 40 10015 2 3¢ S-1 «Q -50 40 100(14 3 3vO+1 &8 -170 40 10.0
5 9 24 N- A -100 10 13.0|16 8 3NN-1 2 -50 40 100(13 9 5#S-2 ¢7 -200 2.0 120
7 16 INS-2 46 -100 1.0 13.0| 6 10 3NN-2 &K -100 0.0 140| 6 10 3vyDO= T -530 0.0 14.0
19 « D7 20 « K53 21 « KD954
Syd v EK732 Vast v D52 Nord v 104
oV ¢ 87 Alla ¢ DKn82 NS ¢ 1073
£#KD65 #3864 £D65
4 K109 4 EKn8654 « EKn109872 o- 4 EKNn87 46
v1098 D54 v7 v KKn93 v72 v EKD985
+ Kn105 ¢ EKG6 41095 + E763 ¢ED6G5 84
#10984 &7 KD #EKN1053 #1092  #KKn83
432 « D64 #1032
v Kn6 v E10864 v Kn63
¢ D9432 + K4 ¢ KKn92
#EKn32 #972 *E74
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
13 10 44 O-2 vJ] 200 140 00| 3 15 34 V-1 ¢+ Q 100 13.0 10| 8 12 2v O+3 +¢9 -200 140 0.0
9 16 2y N+1 &7 140 120 20| 7 11 44 V-1 +8 100 130 10| 1 3 2¢v0+4 v6 -230 11.0 3.0
7 11 34 N= *A 110 100 40| 4 14 34 V= &8 -140 70 7.0|16 10 1v O+5 #A -230 11.0 3.0
5 8 44 N-1 *A -50 70 70| 6 1 3aV= ¢+ Q -140 70 70| 6 9 4v 0= +9 -420 80 6.0
6 1 3&N-1 s A -50 70 70|12 2 3a4V= +8 -140 70 7.0| 4 15 4v O+2 &A -480 4.0 10.0
12 2 44 N-2 +A -100 4.0 10.0(13 10 34 V= +Q -140 70 7.0| 5 14 4v O+2 #A -480 4.0 10.0
3 15 24 O= vJ -110 10 130| 5 8 3NO= v4 -600 20 120 7 2 49y O+2 49 -480 4.0 10.0
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4 14 24 O= vJ -110 1.0 13.0( 9 16 44 V= v2 -620 0.0 140|113 11 3NV +3 +3 -490 0.0 14.0
22 & K4 23 «ED 24 & E532
Ost v D10854 Syd v EKD95 Vast vED10984
oV + K98 Alla +D7 Ingen *4
&D62 #7653 &E9
D9 « E86532 4 Kn96 & K542 & 94 & KDKn6
v EK6 v- v8764 vKnl03 vyKKn73  v52
¢ Knl1043 ¢ E765 ¢ E43 ¢ KKn8 ¢ EDKNn85 ¢ K97
#9543 &#KKn10 SED8 #K42 &Kn3 D862
& Knl107 «10873 #1087
v Kn9732 v2 v6
+ D2 + 109652 410632
&E87 &Kn109 &K10754
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 11 3NV -4 v5 400 140 0.0(13 12 24 O-2 v2 200 140 00| 6 14 4¢DV-3 A 500 140 0.0
1 3 340-1 v3 100 80 60| 2 4 1y N+1 o4 110 100 40| 8 3 240-4 v6 200 120 20
4 15 44 O-1 &A 100 80 60| 7 10 1y N+1 &2 110 100 4.0 7 10 4¢ V-3 &A 150 10.0 4.0
5 14 44 0O-1 vJ 100 80 6.0|11 16 1vy N+1 vJ 110 100 40| 2 4 2vy N= + K 110 70 7.0
8 12 44 O-1 +Q 100 80 60|15 5 2 N= LY 90 6.0 80|11 16 2v N= &K 110 70 7.0
16 10 44 O-1 v7 100 80 60| 6 14 1v N-1 vJ -100 20 120|15 5 4e¢ V-1 &A 50 4.0 10.0
7 2 INO+1 ¢Q -120 20 120 8 3 2&4N-1 »2 -100 20 120|113 12 3vy N-1 & K -50 20 12.0
6 9 240+1 ¢3 -140 0.0 140| 9 1 1vS-1 vJ -100 20 120| 9 1 2NV+1 vT -150 0.0 14.0
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